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QUESTION 1

A storage group named HOT_SG was created as follows: 

What does the DATA TAG 1 clause do? 

A. It indicates that the multiple storage paths referenced in the HOT_SG storage group definition exist in one physical
location. 

B. It tells the DB2 Optimizer that database objects stored in the HOT_SG storage group are to be given preference over
other objects when data access plans are generated. 

C. It indicates that the value 1 is to be assigned to data stored in the HOT_SG storage group, which Workload Manager
(WLM) can then use to determine the processing priority to assign to database activities that interact with this data. 

D. It assigns a unique identifier to the instance of the HOT_SG storage group being defined; this identifier can then be
used when moving table spaces to and from the storage group, when dropping the storage group, or when commenting
on the storage group. 

Correct Answer: C 

 

 

QUESTION 2

A table named MYTAB was created as follows: 

How many rows will be inserted into the MYTAB table? 

A. 4 

B. 8 
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C. 11 

D. 12 

Correct Answer: B 

 

 

QUESTION 3

A DBA wants to create a table named SALES that has the following characteristics: 

Data for the first half of the year will reside in table space TBSP1; the index for this data will reside in table space
TBSP21. 

Data for the second half of the year will reside in table space TBSP2; the index for this data will reside in table space
TBSP22. Which clause must be used with the CREATE TABLE statement to define this table? 

A. DISTRIBUTE BY HASH 

B. PARTITION BY RANGE 

C. ORGANIZE BY DIMENSIONS 

D. ORGANIZE BY KEY SEQUENCE 

Correct Answer: B 

 

QUESTION 4

What is a benefit of multi-temperature data storage? 

A. It helps reduce redundant I/O. 

B. It helps improve data compression ratios. 

C. It helps reduce storage costs for infrequently accessed data. 

D. It helps identify data access patterns to aid in storage planning. 

Correct Answer: C 

 

QUESTION 5

Which item is NOT eligible for adaptive compression? 

A. Indexes 

B. Base tables 

C. Temporary tables 

Latest C2090-614 Dumps | C2090-614 VCE Dumps | C2090-614 Braindumps                                3 / 4

https://www.geekcert.com/c2090-614.html
https://www.geekcert.com/c2090-614.html
https://www.geekcert.com/c2090-614.html


https://www.geekcert.com/c2090-614.html
2024 Latest geekcert C2090-614 PDF and VCE dumps Download

D. Inline LOB values 

Correct Answer: C 
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